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NTE2586
Silicon NPN Transistor
High Voltage, High Speed Switch

Features:

e High Breakdown Voltage, High Reliability
® Fast Switching Speed

e Wide ASO Range

Absolute Maximum Ratings: (T = +25°C unless otherwise specified)

Collector—Base VOItage, VRO -« - v v vttt ettt e e e e e e 1100V
Collector—Emitter VOIage, VEEQD « « - -« v« o vttt e e e e e e e e e e e 800V
Emitter—Base VOIage, VEBO -+« v« vttt e ettt et e et et e e v
Collector Current, Ic

CONtINUOUS . .ottt et e e e e e e e e e e e e e e 3A

Peak (NOtE d) . ... e e 10A
Base CUIMTENT, IB ..o e e e e e e 1.5A
Collector Power Dissipation, Pc

T A T 1250 o 1.65W

T e T 200 o o 50W
Operating Junction Temperature, T . ...t e e +150°C
Storage Temperature Range, Tgtg - .« vvvvvnn i —55° to +150°C

Note 1. Pulse Test: Pulsed Width < 300us, Duty Cycle < 10%.

Electrical Characteristics: (Tp = +25°C unless otherwise specified)

Parameter Symbol Test Conditions Min | Typ | Max | Unit
Collector Cutoff Current lcego | Veg =800V, I =0 - - 10 | pA
Emitter Cutoff Current leeo [VEg =5V, Ic=0 - - 10 | pA
DC Current Gain hee Vce =5V, Ic =200mA 15 - 40
Veg =5V, Ic = 1A 8 - -
Gain—Bandwidth Product fr Vce = 10V, Ic = 200mA - 15 - [MHz
Output Capacitance Cob Vg = 10V, f = 1IMHz - 60 - pF
Collector Emitter Saturation Voltage | Vcgsay |lc = 1.5A, Ig = 300mA - - 2.0 Vv




Electrical Characteristics (Cont'd): (Ta = +25°C unless otherwise specified)
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Parameter Symbol Test Conditions Min | Typ | Max | Unit
Base Emitter Saturation Voltage VBEsay |[lc =1.5A, Ig = 300mA - - 15 Vv
Collector Base Breakdown Voltage | Vgrycgo |lc = 1mA, Ig =0 1100 | - — Vv
Collector Emitter Breakdown Voltage | V(gryceo |Ic = 5MA, Rgg = « 800 [ - — Vv
Emitter Base Breakdown Voltage | V@grero |l = 1MA, Ic =0 7 - — \Y,
Collector Emitter Sustaining Voltage |Vcexsus) |Ic = 1.5A, Ig1 = —lg2 = 300mA, | 800 - - Y
L = 2mH, Clamped
Turn—On Time ton Ve =400V, Ic = 2A, - - 0.5 | ps
Storage Time tstg :SE Z go%?) ls2 =~ 0.8A, - - [ 30| ps
Fall Time iy - - 0.3 | us
<— .402 (10.2) —>=t .035 <«»—— .177 (4.5)




